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SECTION - A 

  

Ques 1.  Choose the correct options:              1/2 x 4 = 2 marks 

  

1. When a number is multiplied by 0, the product is ______ 

a.  0  b.   1  c.  Number itself  

  

2. Height of a tower is measured in _______ 

a. KM  b.  M  c.  CM 

  

3.  1Rs = ______ paisa. 

a.  1000p  b. 100p c.  10p 

  

4.  1km = _______m 

    a .  10m  b. 100m  c. 1000m 

  

Ques 2.   Fill in the blanks :      1/2 x 4 = 2 marks 

  

1. 8+8+8+8+8+8 = ______ × _____ = ______ 

2. 27 × 200 = __________ 

3. The standard unit of length is ________ 

4. Distance between Delhi and Agra is measured in __________ 

  

 

Ques 3.   True or False : 1/2 x 4 = 2 marks 

  

1. LX + IX = LXIX                                                                   (        ) 

2. 16 × 8 = 123                                                                          (        ) 

3. When a number is multiplied by 1, the product is 0             (        ) 

4. 1m = 100cm                                                                          (        ) 
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Ques 4.  Matching : 1/2 x 4 = 2 marks 

 

1. 12 × 5     XLIX 

2. 31 + 18                 LVIII 

3. 6 × 7      LX 

4. 60 – 42                 XLII 

 

 

SECTION B 

 

  

Ques 5.   Solve :                   1 x 4 = 4 marks 

 

a.    7    3                  b.     km           m                  c.     Km         m           

             ×3    7                          17          438             9          880            

                                             +  12          217                       - 4          640 

                                              

 

 

 

     d.   Rs 9.50 

 ×      6 

 

 

 

Ques 6.   Conversion :       1 x 2 = 2 marks 

 

1. Change into CM 

a. 25m = _______cm 

 

2. Change into M and CM 

a. 3856cm = _______m______cm 

 

 

 

SECTION C 

 

 Ques 7.   WORD PROBLEMS 

 

a. The price of a notebook is Rs 28. How much money will the shopkeeper make  

             If he sells 2 dozen notebooks in a day?  1 x 2 = 2 mark 

 

b.  Ravi walks 3km 600m and Charu walks 1km 550m to reach the school. Who 

             Walks more and by how much?  1 x 2 = 2 marks 

 

c. I bought 5 ice cream cone. If one ice cream cone costs Rs 19.50, find the total 

money paid.         1 x 

2 = 2 marks 



 


